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QUESTION 1

Why should two of each component be located at the London datacenter? 

A. Because it allows for Inter and Intra site high availability 

B. Because it increases security for remote access 

C. Because two components at each datacenter allow for increased user performance 

D. Because user experience will NOT be affected in the event of a site outage 

Correct Answer: A 

 

QUESTION 2

How should the resource pools be designed to host the server workloads and virtual desktops by ensuring availability? 

A. Resource pools of a maximum of 16 XenServer hosts should be created for the virtual solution. The virtual disks of
the server workloads should be backed up on a daily basis and third-party backup solutions should be implemented for
the desktops. 

B. Resource pools of a maximum of 32 XenServer hosts should be created for the virtual solution. The virtual disks of
the server workloads should be on a storage repository to provide XenMotion and high availability capabilities. The
virtual disks of the server workloads should be backed up on a daily basis. 

C. Resource pools of a maximum of 16 XenServer hosts should be created for the virtual solution. The virtual disks of all
workloads should be on a shared storage repository to provide XenMotion and high availability capabilities.
Furthermore, the virtual machine meta information and data should be replicated to the failover site by the new storage
solution. 

D. Resource pools of a maximum of 32 XenServer hosts should be created for the virtual solution. The virtual disks of
the server workloads should be on a shared storage repository to provide XenMotion and high availability capabilities.
Furthermore, the virtual machine meta information and data should be copied over by a backup function. 

Correct Answer: C 

 

QUESTION 3

Why should disk I/O and page file utilization be used to identify bottlenecks? 

A. Excessive disk I/O and page file utilization will slow the creation of new sessions. 

B. Excessive disk I/O and page file utilization on the data collector will slow down Web Interface authentication. 

C. Excessive disk I/O and page file utilization on the data collector will slow down application enumeration. 

D. Excessive disk I/O and page file utilization on the XenApp server will affect the local host cache. 

Correct Answer: D 
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QUESTION 4

Why should CPU and network I/O be used to identify bottlenecks? 

A. Excessive consumption of CPU or network I/O indicates there are too many target devices. 

B. Excessive consumption of CPU or network I/O indicates a network misconfiguration. 

C. Excessive consumption of CPU or network I/O indicates that the anti-virus configuration could be causing a
bottleneck. 

D. Excessive consumption of CPU or network I/O indicates that the system is low on virtual memory. 

Correct Answer: A 

 

QUESTION 5

What are the benefits of using Streamed VHD? 

A. It retains the single image management function while allowing users to install applications. 

B. It provides a high level of security while allowing user customization. 

C. It has a low storage performance requirement and high user density. 

D. It delivers low-cost and high application compatibility. 

Correct Answer: B 
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